
BOLLETTINO UNIONE MATEMATICA ITALIANA

LEONARD CARLITZ

On Laguerre and Jacobi polynomials.

Bollettino dell'Unione Matematica Italiana, Serie 3, Vol. 12
(1957), n.1, p. 34–40.

Zanichelli

<http://www.bdim.eu/item?id=BUMI_1957_3_12_1_34_0>

L'utilizzo e la stampa di questo documento digitale è consentito liberamente per motivi di ricerca e studio. Non è consentito l'utilizzo dello stesso per motivi commerciali. Tutte le copie di questo documento devono riportare questo avvertimento.

*Articolo digitalizzato nel quadro del programma
bdim (Biblioteca Digitale Italiana di Matematica)
SIMAI & UMI*

<http://www.bdim.eu/>

On Laguerre and Jacobi polynomials.

Nota di LEONARD CARLITZ (Durham, U. S. A.)

Sunto. - *Using an expansion of BATEMAN'S, a number of identities involving the LAGUERRE and JACOBI polynomials are obtained.*

1. BAILEY [2, p. 65] noted that the formula

$$(1.1) \quad L_m^{(\alpha)}(z)L_n^{(\alpha)}(z) = \frac{\Gamma(1+\alpha+m)(1+\alpha+n)}{\Gamma(1+\alpha+m+n)} \sum_{r=0}^{\min(m,n)} \frac{(m+n-2r)!}{r!(m-r)!(n-r)!\Gamma(1+\alpha+r)} z^{2r} L_{m+n-2r}^{(\alpha+2r)}(z)$$

where

$$L_m^{(\alpha)}(z) = \sum_{r=0}^m \binom{m+\alpha}{m-r} \frac{(-z)^r}{r!},$$

is a consequence of

$$(1.2) \quad \sum_0^\infty \frac{z^n L_n^{(\alpha)}(t)}{\Gamma(1+\alpha+n)} = e^z (zt)^{-\alpha/2} J_\alpha \left\{ 2(zt)^{\frac{1}{2}} \right\}$$

and

$$(1.3) \quad J_\nu(z \cos \theta) J_\nu(z \sin \theta) = \sum_{r=0}^\infty \frac{\left(\frac{1}{4} z \sin 2\theta\right)^{\nu+2r}}{r! \Gamma(1+\nu+r)} J_{\nu+2r}(z).$$

It may be of interest to see what is implied by BATEMAN'S formula [8, p. 370]

$$(1.4) \quad \begin{aligned} & \frac{1}{2} z J_\alpha(z \sin \Phi \sin \theta) J_\beta(z \cos \Phi \cos \theta) \\ &= \sin^\alpha \Phi \sin^\alpha \theta \cos^\beta \Phi \cos^\beta \theta \sum_{n=0}^\infty (-1)^n (1+\alpha+\beta+2n) J_{1+\alpha+\beta+2n}(z) \\ & \cdot \frac{\Gamma(1+\alpha+\beta+n)\Gamma(1+\alpha+n)}{n! \Gamma^2(1+\alpha)\Gamma(1+\beta+n)} F(-n, 1+\alpha+\beta+n, 1+\alpha; \sin^2 \Phi) \\ & \cdot F(-n, 1+\alpha+\beta+1; 1+\alpha; \sin^2 \theta) \\ &= \sin^\alpha \Phi \sin^\alpha \theta \cos^\alpha \Phi \cos^\beta \theta \sum_{n=0}^\infty (-1)^n (1+\alpha+\beta+2n) J_{1+\alpha+\beta+2n}(z) \\ & \cdot \frac{n! \Gamma(1+\alpha+\beta+n)}{\Gamma(1+\alpha+n)\Gamma(1+\beta+n)} P_n^{(\alpha, \beta)}(\cos 2\Phi) P_n^{(\alpha, \beta)}(\cos 2\theta), \end{aligned}$$

where

$$P_n^{(\alpha, \beta)}(x) = \left(\frac{n + \alpha}{\alpha} \right) F \left(-n, 1 + \alpha + \beta + n; 1 + \alpha; \frac{1 - x}{2} \right).$$

It follows from (1.2) that

$$\begin{aligned} & \frac{1}{2} z t J_\alpha(2zt \sin \Phi \sin \theta) J_\beta(2zt \cos \Phi \cos \theta) \\ &= \frac{1}{2} e^{-z^2} (zt)^{1+\alpha+\beta} (\sin \Phi \sin \theta)^z (\cos \Phi \cos \theta)^\beta \\ & \cdot \sum_{m, n=0}^{\infty} \frac{L_m^{(\alpha)}(t^2 \sin^2 \theta) L_n^{(\beta)}(t^2 \cos^2 \theta)}{\Gamma(1 + \alpha + m) \Gamma(1 + \beta + n)} (z \sin \Phi)^{2m} (z \cos \Phi)^{2n} \\ &= e^{-z^2} (zt)^{1+\alpha+\beta} (\sin \Phi \sin \theta)^z (\cos \Phi \cos \theta)^\beta \\ & \cdot \sum_{k=0}^{\infty} z^{2k} \sum_{m+n=k} \sin^{2m} \Phi \cos^{2n} \Phi \frac{\Gamma_m^{(\alpha)}(t^2 \sin^2 \theta) L_n^{(\beta)}(t^2 \cos^2 \theta)}{\Gamma(1 + \alpha + m) \Gamma(1 + \beta + n)}. \end{aligned}$$

On the other hand, the right member of (1.4), with z replaced by $2zt$, becomes

$$\begin{aligned} & (\sin \Phi \sin \theta)^\alpha (\cos \Phi \cos \theta)^\beta \sum_{r=0}^{\infty} (-1)^r (1 + \alpha + \beta + 2r) \frac{r! \Gamma(1 + \alpha + \beta + r)}{\Gamma(1 + \alpha + r) \Gamma(1 + \beta + r)} \\ & \cdot P_r^{(\alpha, \beta)}(\cos 2\Phi) P_r^{(\alpha, \beta)}(\cos 2\theta) e^{-z^2} (zt)^{1+\alpha+\beta+2r} \\ & \cdot \sum_{s=0}^{\infty} \frac{L_s^{(1+\alpha+\beta+2r)}(t^2)}{\Gamma(2 + \alpha + \beta + 2r + s)} z^{2s}. \end{aligned}$$

Equating coefficients of z^{2k} we get

$$\begin{aligned} (1.5) \quad & \sum_{m+n=k} \sin^{2m} \Phi \cos^{2n} \Phi \frac{L_m^{(\alpha)}(t^2 \sin^2 \theta) L_n^{(\beta)}(t^2 \cos^2 \theta)}{\Gamma(1 + \alpha + m) \Gamma(1 + \beta + n)} \\ &= \sum_{r=0}^k (-1)^r (1 + \alpha + \beta + 2r) \frac{r! \Gamma(1 + \alpha + \beta + r)}{\Gamma(1 + \alpha + r) \Gamma(1 + \beta + r)} \\ & \cdot P_r^{(\alpha, \beta)}(\cos 2\Phi) P_r^{(\alpha, \beta)}(\cos 2\theta) \frac{t^{2r} L_{k-r}^{(1+\alpha+\beta+2r)}(t^2)}{\Gamma(2 + \alpha + \beta + k + r)}. \end{aligned}$$

If we let $v = t^2 \sin^2 \theta$, $u = t^2 \cos^2 \theta$, (1.5) becomes

$$\begin{aligned} (1.6) \quad & \sum_{m+n=k} \sin^{2m} \Phi \cos^{2n} \Phi \frac{L_m^{(\alpha)}(v) L_n^{(\beta)}(u)}{\Gamma(1 + \alpha + m) \Gamma(1 + \beta + n)} \\ &= \sum_{r=0}^k (-1)^r (1 + \alpha + \beta + 2r) \frac{r! \Gamma(1 + \alpha + \beta + r)}{\Gamma(1 + \alpha + r) \Gamma(1 + \beta + r)} \\ & \cdot P_r^{(\alpha, \beta)}(\cos 2\Phi) P_r^{(\alpha, \beta)} \left(\frac{u - v}{u + v} \right) (u + v)^r \frac{L_{k-r}^{(1+\alpha+\beta+2r)}(u + v)}{\Gamma(2 + \alpha + \beta + k + r)}, \end{aligned}$$

or if we prefer

$$\begin{aligned}
 (1.7) \quad & \sum_{m+n=k} y^m x^n \frac{L_m^{(\alpha)}(v) L_n^{(\beta)}(u)}{\Gamma(1+\alpha+m)\Gamma(1+\beta+n)} \\
 &= \sum_{r=0}^k (-1)^r (1+\alpha+\beta+2r) \frac{r! \Gamma(1+\alpha+\beta+r)}{\Gamma(1+\alpha+r)\Gamma(1+\beta+r)} \\
 & \quad \cdot (x+y)^k (u+v)^r P_r^{(\alpha, \beta)}\left(\frac{x-y}{x+y}\right) P_r^{(\alpha, \beta)}\left(\frac{u-v}{u+v}\right) \frac{L_{k-r}^{(1+\alpha+\beta+2r)}(u+v)}{\Gamma(2+\alpha+\beta+k+r)}.
 \end{aligned}$$

For $\alpha = \beta = 0$ this reduces to

$$\begin{aligned}
 & \sum_{m+n=k} y^m x^n L_m(v) L_n(u) / m! n! \\
 &= \sum_{r=0}^k (-1)^r (1+2r) (x+y)^k (u+v)^r P_r\left(\frac{x-y}{x+y}\right) P_r\left(\frac{u-v}{u+v}\right) \frac{L_{k-r}^{(1+2r)}(u+v)}{(1+k+r)!}.
 \end{aligned}$$

In (1.7) take $y = 1$, $x = -1$ and we find that

$$(1.8) \quad \sum_{m+n=k} (-1)^n \frac{L_m^{(\alpha)}(v) L_n^{(\beta)}(u)}{\Gamma(1+\alpha+m)\Gamma(1+\beta+n)} = \frac{(u+v)^k P_k^{(\alpha, \beta)}\left(\frac{u-v}{u+v}\right)}{\Gamma(1+\alpha+k)\Gamma(1+\beta+k)}.$$

In particular for $u = (1+x)/2$, $v = (1-x)/2$, (1.8) reduces to

$$P_k^{(\alpha, \beta)}(x) = \sum_{m+n=k} (-1)^n \frac{\Gamma(1+\alpha+k)\Gamma(1+\beta+k)}{\Gamma(1+\alpha+n)\Gamma(1+\beta+n)} L_m^{(\beta)}\left(\frac{1+x}{2}\right) L_n^{(\alpha)}\left(\frac{1-x}{2}\right),$$

a formula proved by RAINVILLE [7].

2. It is not difficult to give a direct proof of (1.8). Indeed we have

$$\begin{aligned}
 & \sum_{m+n=k} y^m x^n \frac{L_m^{(\alpha)}(v) L_n^{(\beta)}(u)}{\Gamma(1+\alpha+m)\Gamma(1+\beta+n)} \\
 &= \sum_{m+n=k} y^m x^n \sum_{r=0}^n (-1)^r \frac{u^r}{(n-r)! r! \Gamma(1+\beta+r)} \sum_{s=0}^m (-1)^s \frac{v^s}{(m-s)! s! \Gamma(1+\alpha+s)} \\
 &= \sum_{r+s \leq k} (-1)^{r+s} \frac{u^r v^s}{r! s! \Gamma(1+\beta+r)\Gamma(1+\alpha+s)} \sum_{m+n=k} \frac{y^m x^n}{(n-r)! (m-s)!} \\
 &= \sum_{r+s \leq k} (-1)^{r+s} \frac{(xu)^r (yv)^s (k+y)^{k-r-s}}{r! s! (k-r-s)! \Gamma(1+\beta+r)\Gamma(1+\alpha+s)} \\
 &= \sum_{m=0}^k (-1)^m \frac{(x+y)^{k-m}}{(k-m)!} \sum_{r+s=m} \frac{(xy)^r (yv)^s}{r! s! \Gamma(1+r+\beta)\Gamma(1+s+\beta)} \\
 &= \sum_{m=0}^k (-1)^m \frac{(xu-yv)^m (x+y)^{k-m}}{(k-m)! \Gamma(1+\alpha+m)\Gamma(1+\beta+m)} P_m^{(\alpha, \beta)}\left(\frac{xu-yv}{xu+yv}\right).
 \end{aligned}$$

For $y = 1$, $x = -1$, this identity reduces to (1.8). Comparison with (1.7) yields

$$\begin{aligned}
 (2.1) \quad & \sum_{m=0}^k (-1)^m \frac{(xu - yv)^m (x + y)^{k-m}}{(k-m)! \Gamma(1 + \alpha + m) \Gamma(1 + \beta + m)} P_m^{(\alpha, \beta)} \left(\frac{xu + yv}{xu - yv} \right) \\
 &= \sum_{r=0}^k (-1)^r (1 + \alpha + \beta + 2r) \frac{r! \Gamma(1 + \beta + r)}{\Gamma(1 + \alpha + r) \Gamma(1 + \beta + r)} \\
 &\quad \cdot (x + y)^k (u + v)^r P_r^{(\alpha, \beta)} \left(\frac{x-y}{x+y} \right) P_r^{(\alpha, \beta)} \left(\frac{u-v}{u+v} \right) \frac{L_{k-r}^{(1+\alpha+\beta+2r)}(u+v)}{\Gamma(2 + \alpha + \beta + k + r)}.
 \end{aligned}$$

Replace x, y, u, v by

$$\frac{1}{2}(1+x)z, \quad \frac{1}{2}(1-x)z, \quad \frac{1}{2}(1+y)z, \quad \frac{1}{2}(1-y)z,$$

respectively, then (2.1) become

$$\begin{aligned}
 (2.2) \quad & \sum_{m=0}^k (-1)^m \frac{(x+y)^m z^{k-m}}{2^m (k-m)! \Gamma(1 + \alpha + m) \Gamma(1 + \beta + m)} P_m^{(\alpha, \beta)} \left(\frac{1+xy}{x+y} \right) \\
 &= \sum_{r=0}^k (-1)^r (1 + \alpha + \beta + 2r) \frac{r! \Gamma(1 + \alpha + \beta + r)}{\Gamma(1 + \alpha + r) \Gamma(1 + \beta + r)} \\
 &\quad \cdot z^r P_r^{(\alpha, \beta)}(x) P_r^{(\alpha, \beta)}(y) \frac{L_{k-r}^{(1+\alpha+\beta+2r)}(z)}{\Gamma(2 + \alpha + \beta + k + r)}.
 \end{aligned}$$

Comparing coefficients of z^k in both members of (2.2) we get

$$\begin{aligned}
 (2.3) \quad & \left(\frac{x+y}{2} \right)^k P_k^{(\alpha, \beta)} \left(\frac{1+xy}{x+y} \right) = \sum_{r=0}^k \frac{(1 + \alpha + \beta + 2r) r! \Gamma(1 + \alpha + \beta + r)}{(k-r)! \Gamma(2 + \alpha + \beta + k + r)} \\
 &\quad \cdot \frac{\Gamma(1 + \alpha + k) \Gamma(1 + \beta + k)}{\Gamma(1 + \alpha + r) \Gamma(1 + \beta + r)} P_r^{(\alpha, \beta)}(x) P_r^{(\alpha, \beta)}(y).
 \end{aligned}$$

Next multiply both sides of (2.2) by $e^{-z} z^{\alpha+\beta+k}$ and integrate from 0 to ∞ . Since

$$\begin{aligned}
 & \int_0^{\infty} e^{-z} z^{\alpha+\beta+k+r} L_{k-r}^{(1+\alpha+\beta+2r)}(z) dz = 0 \quad (k > r), \\
 & \int_0^{\infty} e^{-z} z^{\alpha+\beta+k+r} dz = \Gamma(1 + \alpha + \beta + k + r) \quad (\alpha + \beta + k + r > -1),
 \end{aligned}$$

(2.2) yields

$$\begin{aligned}
 (2.4) \quad & P_k^{(\alpha, \beta)}(x) P_k^{(\alpha, \beta)}(y) = \frac{(1 + \alpha)_k (1 + \beta)_k}{k!} \\
 &\quad \cdot \sum_{m=0}^k (-1)^{k-m} \frac{(1 + \alpha + \beta + k)_m (x + y)^m}{2^m (k-m)! (1 + \alpha)_m (1 + \beta)_m} P_m^{(\alpha, \beta)} \left(\frac{1+xy}{x+y} \right).
 \end{aligned}$$

Since $P_n^{(\alpha, \beta)}(x)$ is a polynomial in α, β (as well as x), (2.4) holds for all values of the parameters.

The formulas (2.3) and (2.4) are due to BATEMAN and are stated in [5, p. 392]; (2.3) was proved in [4]. (2.4) was rediscovered by BAILEY [3] and BRAFMAN [6].

If in (2.1) we take $y=0$ and change the notation slightly we find that

$$(2.5) \quad L_k^{(\beta)}\left(\frac{1}{2}x(1+y)\right) = \sum_{r=0}^k (-1)^r (1+\alpha+\beta+2r) \frac{(1+\beta+r)_{k-r}}{(1+\alpha+\beta+r)_{k+1}} \\ \cdot x^r P_r^{(\alpha, \beta)}(y) L_{k-r}^{(1+\alpha+\beta+2r)}(x);$$

in particular for $y=1$, (2.5) reduces to

$$(2.6) \quad L_k^{(\beta)}(x) = \sum_{r=0}^k (-1)^r (-1)^r (1+\alpha+\beta+2r) \frac{(1+\alpha)_r (1+\beta+r)_{k-r}}{r! (1+\alpha+\beta+r)_{k+1}} \\ \cdot x^r L_{k-r}^{(1+\alpha+\beta+2r)}(x).$$

3. If

$$f(x) = \sum_{r=0}^k a_r x^r (1-x)^{k-r},$$

where a_r is independent of x , then it is easily verified that

$$(3.1) \quad a_m = \sum_{r=0}^m \binom{k-r}{m-r} \frac{f^{(r)}(0)}{r!}.$$

In (1.5) take $x = \sin^2 \Phi$; then (3.1) yields

$$(3.2) \quad \frac{L_m^{(\alpha)}(t^2 \sin^2 \theta) L_n^{(\beta)}(t^2 \cos^2 \theta)}{\Gamma(1+\alpha+m)\Gamma(1+\beta+n)} \\ = \binom{m+n}{n} \sum_{r=0}^{m+n} (-1)^r (1+\alpha+\beta+2r) \frac{(1+\alpha+\beta+r)}{\Gamma(1+\alpha)\Gamma(1+\beta+r)} \\ \cdot {}_3F_2 \left[\begin{matrix} -r, -m, 1+\alpha+\beta+r \\ -m-n, 1+\alpha \end{matrix} \right] P_r^{(\alpha, \beta)}(\cos 2\theta) \frac{t^{2r} L_{m+n-r}^{(1+\alpha+\beta+2r)}(t^2)}{\Gamma(2+\alpha+\beta+m+n+r)},$$

or

$$(3.3) \quad \frac{L_m^{(\alpha)}(v) \Gamma_n^{(\beta)}(u)}{\Gamma(1+\alpha+m)\Gamma(1+\beta+n)} \\ = \binom{m+n}{m} \sum_{r=0}^{m+n} (-1)^r (1+\alpha+\beta+2r) \frac{\Gamma(1+\alpha+\beta+r)}{\Gamma(1+\alpha)\Gamma(1+\beta+r)} \\ \cdot {}_3F_2 \left[\begin{matrix} -r, -m, 1+\alpha+\beta+r \\ -m-n, 1+\alpha \end{matrix} \right] (u+v)^r P_r^{(\alpha, \beta)}\left(\frac{u-v}{u+v}\right) \frac{L_{m+n-r}^{(1+\alpha+\beta+2r)}(u+v)}{\Gamma(2+\alpha+\beta+m+n+r)}.$$

In particular for $v = 0$, (3.3) becomes

$$\frac{L_n(u)}{m! \Gamma(1 + \beta + n)} = \binom{m+n}{m} \sum_{r=0}^{m+n} (-1)^r (1 + \alpha + \beta + 2r) \frac{(1 + \alpha + \beta + r)}{\Gamma(1 + \beta + r)} \\ \cdot \left(\begin{matrix} \alpha + r \\ r \end{matrix} \right) {}_3F_2 \left[\begin{matrix} -r, -m, 1 + \alpha + \beta + r \\ -m - n, 1 + \alpha \end{matrix} \right] \frac{u^r L_{m+n-r}^{(1+\alpha+\beta+2r)}(u)}{\Gamma(2 + \alpha + \beta + m + n + r)},$$

which may be written in the form

$$(3.4) \quad L_n^{(\beta)}(u) = \frac{(m+n)!}{n!} \sum_{r=0}^{m+n} (-1)^r (1 + \alpha + \beta + 2r) \frac{(1 + \alpha)_r (1 + \beta + r)_{n-r}}{r! (1 + \alpha + \beta + r)_{m+n+1}} \\ \cdot {}_3F_2 \left[\begin{matrix} -r, -m, 1 + \alpha + \beta + r \\ -m - n, 1 + \alpha \end{matrix} \right] u^r L_{m+n-r}^{(1+\alpha+\beta+2r)}(u).$$

For $m = 0$, (3.4) evidently reduces to (2.6).

When $m = n$, $\alpha = \beta$, we have [1, p. 16, § 3.3]

$${}_3F_2 \left[\begin{matrix} -r, 1 + 2\alpha + r, -m \\ 1 + \alpha, -2m \end{matrix} \right] = \\ = \frac{\Gamma\left(\frac{1}{2}\right) \Gamma\left(\frac{1}{2} - m\right) \Gamma(1 + \alpha) \Gamma(-\alpha - m)}{\Gamma\left(\frac{1}{2} - \frac{r}{2}\right) \Gamma\left(1 + \alpha + \frac{r}{2}\right) \Gamma\left(\frac{1}{2} + \frac{r}{2} - m\right) \Gamma\left(-\alpha - \frac{r}{2} - m\right)} \\ = \frac{\left(\frac{1}{2}\right)_s (1 + \alpha + m)_s}{(1 + \alpha)_s \left(\frac{1}{2} - m\right)_s} \quad (r = 2s)$$

when r is odd the series vanishes). Thus in the special case (3.3) reduces to

$$(3.5) \quad L_m^{(\alpha)}(u) L_m^{(\alpha)}(v) = \\ = \binom{2m}{m} \sum_{s=0}^m (1 + 2\alpha + 4s) \frac{(1 + \alpha + s)_{m-s} (1 + \alpha + 2s)_{m-s}}{(1 + 2\alpha + 2s)_{2m+1}} \frac{\left(\frac{1}{2}\right)_s}{\left(\frac{1}{2} - m\right)} \\ \cdot (u + v)^{2s} P_{2s}^{(\alpha, \alpha)}\left(\frac{u - v}{u + v}\right) I_{2m-2s}^{(1+2\alpha+4s)}(u + v).$$

In this connection we may recall the simpler formula of BAILEY [2, (1.1)]:

$$L_m^{(\alpha)}(u)L_m^{(\alpha)}(v) = \frac{\Gamma(1 + \alpha + m)}{m!} \sum_{r=0}^m \frac{(uv)^r L_{m-r}^{(\alpha+2r)}(u+v)}{r! \Gamma(1 + \alpha + r)}.$$

4. If in (2.3) we take $y = -x$ we get

$$\begin{aligned} (4.1) \quad & \frac{(1 + \alpha + \beta + k)_k}{k!} (1 - x^2)^k \\ &= \sum_{r=0}^k \frac{(1 + \alpha + \beta + 2r)r! \Gamma(1 + \alpha + \beta + r)}{(k-r)! \Gamma(2 + \alpha + \beta + k + r)} \\ & \cdot \frac{\Gamma(1 + \alpha + k)\Gamma(1 + \beta + k)}{\Gamma(1 + \alpha + r)\Gamma(1 + \beta + r)} P_r^{(\alpha, \beta)}(x) P_r^{(\alpha, \beta)}(-x). \end{aligned}$$

Similarly (2.4) yields

$$\begin{aligned} (4.2) \quad & P_k^{(\alpha, \beta)}(x) P_k^{(\sigma, \rho)}(-x) = \frac{(1 + \alpha)_k (1 + \beta)_k}{k!} \\ & \cdot \sum_{m=0}^k (-1)^{k-m} \frac{(1 + \alpha + \beta + k)_m (1 + \alpha + \beta + m)_m}{2^m m! (k-m)! (1 + \alpha)_m (1 + \beta)_m} (1 - x^2)^m. \end{aligned}$$

REFERENCES

- [1] W. N. BAILEY, *Generalized Hypergeometric Series*, Cambridge, 1935.
- [2] W. N. BAILEY, *On the product of two Laguerre polynomials*, « Quarterly Journal of Mathematics (Oxford) », vol. 10 (1939), pp. 60-66.
- [3] W. N. BAILEY, *On the product of two Legendre polynomials with different arguments*, « Proceedings of the London Mathematical Society », (2), vol. 41 (1936), pp. 210-220.
- [4] H. BATEMAN, *A generalization of the Legendre polynomial*, « Proceedings of the London Mathematical Society », (2), vol. 3 (1905), pp. 111-123.
- [5] H. BATEMAN, *Partial Differential Equations*, New York, 1944.
- [6] F. BRAFMAN, *Generating functions of Jacobi and related polynomials*, « Proceedings of the American Mathematical Society », vol. 2 (1951), pp. 942-949.
- [7] E. D. RAINVILLE, *A relation between Jacobi and Laguerre polynomials*, « Bulletin of the American Mathematical Society », vol. 51 (1945), pp. 266-267.
- [8] G. N. WATSON, *Theory of Bessel Functions*, second edition, Cambridge, New York, 1944.